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A soil profile is shown in following Figure 1. In this soil profile, clay layer is normally

consolidated.

(1) Please calculate and plot the variation of'total stress, pore water pressure and effective stress
with depth. (6%) | |
(PXM#F: GERA - FLEAKRR - FRENRREMAER)

(2) If this ground surface is subjected by a flexible rectangular (24mx30m) loading (P=100kPa)

- shown as following Figure 2, please (a)plot the variation of total stress, pore water pressure
and effective stress with depth under the middle of the rectangular load (6%) (hint:
Includmg short term and long term). (b)calculate settlement of the clay layer caused by
primary consolidation at point a, b, ¢? (6%) (Cc=0.45)
(PXMF QB ENARMEREN - LRAKRE - FREHRRENAE
GitHas b ‘c ZHHEIERFALBE)

(3) Calculate (a) settlement of a, b, ¢ in the 2™ year of consolidation and (b) the time of 80%

consolidation. (12%) '

Cv=0.616 m%/year,
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2. (1) #FRARLKAELURA (6%)
() #ETHQQBRREEZ 2% (10%).
(b)\':b).gz'.rg‘ )lLit'fﬁIz/%IllLé (4%)
k=6.v5><10'5 m/sec
7 permeable layer=19kN/m3
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3. MEREWAUT 2 43 1 (30%)
(1) B 5 F(plasticity index)
(2) #te45 E(liquidity index)
Q) RLEBRFE bb(overconsolidation ratib)
() BE LRz 48 #E & (relative density)
(5) 1% 54 dh 4% 2 o % 1% $ (coefficient of curvature)
6) rzzp K (activity)

4. ALz HKkER 18% 82 iR iﬁ{né% 19.21 kN/m? », E%ﬂﬁiiﬁﬁi}ﬁ tk F(specifi
gravity of soil solids) % 2.71 » 3t *1-5_ (20%) e
(1) FLF tk(void ratio)
(2) #8F2 & (degree of saturation)
Q) #tEm ¥ (dry unit weight)
4 #FoBiy ¥ (saturated unit weight)




